
For additional product information visit our website at 
http://www.ClecoTools.com

Price List: UT-PL
May 1, 2025

Supersedes: May 1, 2024 
All prices in US Dollars

Torque Products 

For additional product information visit our website at www.Apex-Tools.com

May 2025
Customer Net Price List



Model / Part Number Description
Return
Code

Price
Product 

Code
Min
Qty

UPC 

4502840356 1/8" BALL 0.60 IL 697099558781
4502840359 1/4-28 CAM SET SCREW 0.80 IL 697099558811
4502840376 6.32X1/8 SET SCREW 1.00 IL 697099558873
4502840377 3/32" CHROME STL BALL 0.60 IL 697099558880
4502840393 IN.LB. STOP PIN 1.30 IL 697099558934
4502870103 TS SHAFT ROLLER PIN 8.30 IL 697099559818
4502870113 SCREWDRIVER THRUSTBEAR. 4.30 IL 697099559825
4502870135 SCREW  SET,#6-32 0.80 IL 697099631453
4502870137 SNAP RING (SCREWDRIVER) 1.40 IL 697099559832
4502870138 A" LOCK COLLAR SPRING 0.60 IL 697099559849
4502870140 TS-100 TORQUE SPRING 9.70 IL 697099559863
4502870141 1TS COMPRESSION SPRING 0.60 IL 697099559870
4502870142 PIN,SPRING 0.60 IL 697099559887
4502870143 3/16" CHROME STEEL BALL 0.60 IL 697099559894
4502870144 7/32" CHROME STEEL BALL 0.60 IL 697099559900
4502870145 TORQUE SPRING 8.60 IL 697099559917
4502870167 TT-16-32X1/4 NYLON SCREW 2.70 IL 697099560050
4502870168 TT-2-56X1/16 SET SCREW 19.60 IL 697099560067
4502870169 1/16X1/4 SPIROL PIN 0.80 IL 697099560074
4502870191 T-SCREWDRIVER BOX 7.500X4.000X2.625 20.90 IL 697099569015
4502870710 TW-10  "0" PHP BIT N 12.40 IL 697099560227
8502870101 TS SCREWDRIVER CAM 24.00 IL 697099565680
8502870102 SPACER 12.70 IL 697099565697
8502870105 LOCK COLLAR 32.00 IL 697099565703
8502870106 CAM INSERT 33.00 IL 697099565710
8502870107 TS-HANDLE 43.00 IL 697099565727
8502870108 THRUST WASHER 11.70 IL 697099565734
8502870109 SCREWDRIVER SPACER 10.80 IL 697099565741
8502870112 TS 35 SLEEVE 69.00 IL 697099565765
8502870115 TS-35 FRONT BARREL 70.00 IL 697099565772
8502870116 TS 30 FRONT BARREL 70.00 IL 697099565789
8502870117 FRONT BARREL TS-100 70.00 IL 697099565796
8502870118 TS 30 SLEEVE 40.00 IL 697099565802
8502870119 SLEEVE TS-100 47.00 IL 697099565819
8502870127 SHAFT RETAINER 11.70 IL 697099565871
8502870129 SHAFT ADJ SCREWDRIVER 51.00 IL 697099565888
8502871094 STEEL INNER BIT HOLDER 23.20 IL 697099566007
8502871095 STEEL OUTER BIT HOLDER 23.20 IL 697099566014
8602870184 TS ADJ.PLUG ASSEMBLY 24.70 IL 697099567349
A-7-15MM-P ADAPTER 15MM ML HEX 3/4 ML SQ 1.562" OAL N 38.00 IG 25
CH-150 TORQUE, ADJ. WR. SIZE "A" 30 375.00 IJ 697099999959
CH-150F TORQUE, INTCHG WR SIZE "B" 820.00 IJ 697099999942
CH-75F TORQUE, INTCHG WR. SIZE "B" 715.00 IJ 697099999935
CHA-11 TORQUE, SINGLE SET WR. SIZE "A" 217.00 IJ 697099631460
CHA-23 TORQUE, WR. SIZE "A" SINGLE SE 228.00 IJ 697099631477
CHA-6 PRESET TORQUE WRENCH .6-6NM 251.00 IJ 697099631491
CHB-110 TORQUE, SINGLE SET WR SIZE "B" 425.00 IJ 697099631507
CHB-170 TORQUE, WR. SIZE "B" SINGLE SETTING 581.00 IJ 697099631514
CHB-225 TORQUE, WR. SIZE "B" SINGLE SE 715.00 IJ
CHB-55 TORQUE, SINGLE SET WR. SIZE "B" 306.00 IJ 697099631538
CHB-85 TORQUE, SINGLE SET SIZE "B"WR" 360.00 IJ 697099631545
KT-100 TORQUE, KIT 20 TO 100 IN. OZ. 915.00 IJ 697099629146
KT-130 TORQUE, KIT 20 IN. TO 30 IN. LBS. 1,715.00 IJ 697099629153
KT-30 TORQUE, KIT 6 TO 30 IN. LBS. 980.00 IJ 697099629160
TCI-150RA TORQUE, 1/4" RAT. SENS. WR. DR 411.00 IJ 697099998105
TCI-150RAC TORQUE 1/4" RAT.SENS. WR.DR. N 412.00 IJ
TCI-750R TORQUE, 3/8" RAT. SENS. WR. DR 870.00 IJ 697099998013

Return Code N - Indicates Non-Returnable Item
_________________________________________________________________________________________________________________________

2 Prices are subject to change without notice



Model / Part Number Description
Return
Code

Price
Product 

Code
Min
Qty

UPC 

TCI-750R 1/2 TORQUE, 1/2" RAT. SENS. WR. DR 880.00 IJ 697099998006
TCI-75FRN TORQUE, 3/8" RAT. SENS. WR. DR 688.00 IJ 697099997986
TS-100 TORQUE, 1/4" HEX ADJ SCREWDR. 483.00 IJ 697099997832
TS-30 TORQUE, 1/4" HEX DR. ADJ SCREW 483.00 IJ 697099997825
TS-35 TORQUE, 1/4" HEX DR. ADJ SCREW 483.00 IJ 697099997801
TS-SN-1 TORQUE, PRESET SCREWDR. 378.00 IJ 697099997795
TS-SN-2 TORQUE, PRESET SCREWDR. 378.00 IJ 697099997771
TT-1 TORQUE, 3 5/8" HEX DR. ADJ SCR 780.00 IJ 697099997764
TT-SN-1 TORQUE, SCREWDR. PRESET 750.00 IJ 697099997740

Return Code N - Indicates Non-Returnable Item
_________________________________________________________________________________________________________________________

3 Prices are subject to change without notice




